To Dot Or Not To Dot

Solve 1) and find this answer on the dot-to-dot. Solve 2) and draw a line connecting the two dots. Continue the
Jroblems, connecting your answers in order, until the picture is complete.

1)49+4 = 15)58-3= 29)43x1= 35)50-6=
2)1+6= 16)4x 7= 30)12-9= 36)49+5=
3)7-2= 17)9+9= 31)9x3= 37)9x7=
4)5x9= 18)7-5= 32)5x6= 38)11+11=
5)16+8= | 19)4+5= 33)15+17= 39)49-9=
6)6x7= 20)2x5 = 34)5x5= 40) 60 - 7=
7)54+8= 21)15-4= ;.4{
8)21-17= 22)12+7= 5
9)14-6= 23)4x4= e g3
10) 22+ 14 = 24)5+7= .
11)7x2= 25)3x7= *
12)8x9= 26)37-4=
13) 18-3= 27)4+27=
4) 6 +23 = 28)37-20= My
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On the back of this page or on another sheet of paper, write a story about the scene you've just drawn.
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